POCLAIN HYDRAULICS

Hydraulic components - Directional control valves

FIXING ELEMENTS FOR MOUNTING

* SET-KVM-6 consists of:
a) Nuts: 3 x M8 DIN 1587
b) Washers: 3 x A8 DIN 6798-J
c) Screws: 3 x M8 DIN 939 10.9

Description

Screw M8 DIN 939 10.9:

i
= L ol
L mm [in] :Max. number of bankable
N1 80 [3,15] valves KVM:
N2 127 [4,99]
N3 174[6,85] a) parallel connection (KVM-P) =
NG 221[8,70] eight valves (max. N8).
N5 268 [10,55]
N6  315[12,40]
N7 362 [14,25]
N8 409 [16,10]

SET-KVM-6-N3

Model code

[sTElT] - [xIvIwm] - [e] -

Number of bankable directional

valves KVM-6

One valves KVM-6 N1
Two valves KVM-6 N2
Three valves KVM-6 N3
Four valves KVM-6 N4
Five valves KVM-6 N5
Six valves KVM-6 N6
Seven valves KVM-6 N7
Eight valves KVM-6 N8

Mechanically operated

Hydraulically operated

27/01/14

103

Electrically operated




r

Y S .
Eﬂ . 1 7 Directional control valves - Hydraulic components POCLAIN HYDRAULICS

R

Dimensions
OB-KVM-6, OB-KVM-6-VV Hi
= Hz 10
, o35
L=
w {5
e =3

1 i 1
| |
| | | MBx 12
l ' =4
1
H1 H2
OB-KVM-6 or OB-KVM-6-VV... 75+Nx47 (N=1t0 8) 39+Nx47 (N=11t0 8)
OB-KVM-6-VV...-KV... 90+Nx47 (N=1to 8) 54+Nx47 (N =110 8)
OB-KVM-6-VV...-TVTPB...
T
:
| M8 x 12: =6 s 2
| ] 1
fammn B ; Pammm ]
=T ol : ) i
e © , o
- 4 - =B 185
féj’ 3 0 |4 & . | 1
Bt - o =B
- |
|

&3
j2.48)

-

S5d+Nxa7 | S4+NxaT

1. [141 in.IbfIMtorque / Parallel connection (KVM-P) - max. 20Nm [177 in.Ibf] / Series connection (KVM-S) - max. 16 Nm

104 27/01/14



